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N & O &

At

g & M A

2H SHH
HH: SHH FodINHIA 25 23
Bl MY 4R (&)
SA-3H-S(3AH) - MRAS - BES Off &t 24 INEH Husz
SMNH 588,007 593,399 Ab5,392
SHY FUHFIAMHIA 5 25 159,801 165,193 Ab5,392
SN FoUdIH 159,801 165,193 A5,392
SHNH FoHFHAE 58,030 62,710 A4,680
301 2ELE A= 58,030 62,710 24,680
06 S8 -0 -t¥Es2d= 55,830 59,110 3,280
oolE+g 33 38,400,000& 38,400 40,800 A2,400
Ooolgaos Z & 6,400,000 6,400 6,800 2400
O0l&&dA+g 43 7,680,000& 7,680 8,160 A 480
09 ANEHIESS 2,200 3,600 A1,400
Ous & A 5 AT AHl2s 2E 0 900 2900
OU2s ZE0/2X S=R2SME OIS A
Z & 2,200,000 2,200 2,700 A 500
SNH AN 638 1,350 AT12
201 fEt2E | 638 1,350 AT12
02 33=29Hl 638 1,350 AT12
OZ2gY AZ2e)| X2 =H|
Z & 638,000& 638 1,350 AT12




2N RS
HE: Fol #F WO 2
Sl RS FUMBAH (B9 ®R)
SA BB SA(EH) - NEAMY - B 0 4t o4 oI o HIRE
Aol 181,873 190,315 £8,442
0 @Y O £2 106,819 106,319 500
oIS ZoIMEX & 106,819 106,319 500
Ay nel 1,450 9,450 2,000
201 Bt | 11,450 9,450 2,000
02 222l 11,450 9,450 2,000
O2ZR2 2 Al 23 9,200,0002 9,200 7,200 2,000
8% ) 33,059 34,559 A 1,500
201 YBt2 | 3,619 15,119 A1,500
02 232l 4,820 6,320 A 1,500
osEe3 23 2,820,0002 2,820 4,320 A1,500
201 S A B 34,009 42,951 £8,942
AUSAAD TS ALY 34,009 42,951 £8,942
dAols FoiEwHaL L HIFY 27,259 36,201 £8,942
101 Q1248 22,759 31,701 £8,942
VPR EESETP 22,759 31,701 £8,942
OE2¥ S BEHA 23 2,630,000 2,630 7,890 A5,260
OE2Y S Haxy A 1,578,0002 1,578 5,260 ~3,682




N & O & g & M A
SN HeS
HH: H2S FUBINUIA BS 23
Sl HeS FoMBXE CERED
SA-EHB - BAEH) - NRAY - BES 0l & o p/E-F HIDE2
Hes 369, 194 385,738 ~16,544
HeES FUHPALL BS 25 169,084 169,909 £825
Hes FoMeX 169,084 169,909 £825
HEeS FUHNHE 82,515 83,340 £825
301 LB A2 82,515 83,340 £825
58T 0% - BESSTHZ 81,615 82,440 £825
OurE S| 23 6,175,008 6.175 7,000 £825
HeS Al 52,912 158,631 £5,719
HEE 2RSFUSAAL 152,912 158,631 A5,719
HeS FoU=AAY 114,281 120,000 A5,719
401 N EHIL 2T 114,281 120,000 A5,719
01 A&yl 114,281 120,000 A5,719
O10S(4NGDY)HSZ OtA2 M| B
A+ (L=250m,8=3m) A 21,608,008 21,608 30,000 £8,392
O6S (7. YT+ 2)XG2 U4 U sz
DA AH(L=170m, B=4~4.5n) 27,673 25,000 2,673
A 27,673,002
Nes By B 47,198 57,198 £10,000
Hes ez 27,632 37,632 210,000
Nes ey 27,632 37,632 £10,000
101 9121 bl 27,632 37,632 A10,000
01 B 27,632 37,632 210,000
OAlt 284 2 & 27,632,000 27,632 37,632 A 10,000




N = 0l & At & M A
2N YEIS
Ha: YEIS A B
S YEIS ARE FUSAY EERED
SA-3H-S(3AH) - MRAS - BES Off &t 24 INEH Hns2
YEIS 264,810 268,095 £3,285
YEIS ALY 96, 156 98, 156 ~2,000
YEIS ARD FOUSAAL 9. 156 98, 156 £2,000
YEIS FOUSBNL L HAFY 34,156 36, 156 £2,000
101 2121l 29,701 31,701 A2,000
04JIAHH2ZREE 29,701 31,701 £2,000
OE28 S BEH 23 5,890,000% 5,890 7,890 ~2,000
YEIS BHSA L 48,524 49,809 A 1,285
YEIS ol 27,663 28,948 A 1,285
BEI1S o= 27,663 28,948 A 1,285
101 €121 | 27,663 28,948 A 1,285
02 JIEHE 2 4 1,610 2,895 A 1,285
oNL2LRLY 23 1,610,000 1,610 2,895 A 1,285




= AH
N = 0 &8 AH Y H N AN
BN StH S
M StHES ALY
CHel: BN E ARD =0=SAY (St
SAH-AH -2 (SA) - HREAY - BES 01l Ao I AR Husz
st = 266,511 266,511 0
St S AL AH 97,146 97,146 0
SBIHE ANQ Z0=QAY 97,146 97,146 0
SIS FOI=RAY 60,000 60,000 0
401 Al 2 HIZ 20| 60,000 60,000 0
01 A& H| 60,000 60,000 0
Q9 0r29ot2! A H| 2 AH(L=150m,B=2m)
3 0% 0 25,000 A 25,000
ONE 0292 F Ul 2 AHL=90m,B=1.5m)
3 0% 0 15,000 215,000
OARE QIKAGHA AFZH  ZA 10,000,000 10,000 20,000 A 10,000
OstE S 1016-1 S =X XFZA
20,000, 000! 14! 20,000 0 20,000
OBtE S 902-7 L& 2 1A FAHA FHH 2 A
(L=283m) 20,000,000 1Al 20,000 0 20,000
OFM2Y DAZXNE BEL2ZAH(NAETH 2404
) 5,500,000 x 14! 5,500 0 5,500
OBt S 1037-1 222 1z 28 FHHI 2 AH(L=2
Om, B=1.5m) 4,500,0008 * 14! 4,500 0 4,500
HE2A A 76,818 76,818 0
St E D=2 53,660 53,660 0
SIS J|=2FH 53,660 53,660 0
405 KHAHE S HI 20,200 20,200 0
01 AL EEFSH 20,200 20,200 0
OSIEASZ=0IMEH QKA =HEAD FE 0 0 1,200 A 1,200
OHAIE EX Z3 1,100,000 1,100 1,800 AT700
eE=I=pl 3F 0% 0 700 AT700
OPC(2LIE) 240,000 *5LH 1,200 0 1,200
oz 700,000 *2CH 1,400 0 1,400




==
N & 0l &t 2 A AN A
2H: PHS
H: SNE FOWUMALA BE 23
9l SNEFUMBXE (29 :a2)
S -G (FH) - NRAY - B Ol &F o = o HDE2
QU E 421,802 413,802 8,000
AS FOIHPAH A = 25 157,621 149,621 8,000
QNS F0IMET S 157,621 149,621 8,000
ELPSINEC 35,584 27,584 8,000
405 XHAHFEIEHI 13,000 5,000 8,000
01 XA 2B F S| 13,000 5,000 8,000
OEgoaagz]| 8,000,000 =1CH 8,000 0 8,000




= AH
N = 0 &8 AH Y H N AN
2M: BEIS
MM RIS A A
G BHEIS ARE Fo=2AAY (St
SAH-AH -2 (SA) - HREAY - BES 01l Ao I AR Husz
BHEI1S 343,701 361,808 A 18,107
EHE1S AFY A HI 168,894 187,001 A18,107
BEIS ARD F0=2AY 168,894 187,001 A 18,107
BEIS F=S2AAY 131,893 150,000 A 18,107
401 Al 2 HIZ 20| 131,893 150,000 A 18,107
01 A& H| 131,893 150,000 A18,107
OA20IS © A 4| Z AH(L=56m)
A 29,753,000 29,753 34,000 N4, 247
OSHIS ©42 &I 2 AHL=85m)
Z3F 9,985,000 9,985 16,000 26,015
OSTOIE 0|HEZ2 L X2 AHL=67m)
A 21,010,000 21,010 23,000 21,990
O3S QI =& H| = AH(L=90m, B=3m)
23 16,679,000 16,679 22,000 A5,321
OB6E QI =& H| = AH(L=174m, B=4m)
AX 45,531,000 45,531 40,000 5,531
OARE DIKATNA ALY Z A 8,935,000 8,935 15,000 AB,065




==
N & 0l &t 2 A AN A
SM: Bl&E2s
M E2S FOMHPMAUHIA S 23
ool EBiEoE 0 ME K (29 :a2)
S -G (FH) - NRAY - B Ol &F o = o HDE2
EH&2s 492 285 490,285 2,000
EH&2s Fo#HINHA Es 25 227,185 225,185 2,000
Ef &2 =0 ME & 227,185 225,185 2,000
EH&2s AKX 70,925 68,925 2,000
405 KHoHFE S HI 14,700 12,700 2,000
01 XA 2B F S| 14,700 12,700 2,000
OPC 1,300, 000& = 1CH 1,300 0 1,300
OZ2Ig | 700,000 =1CH 700 0 700
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